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10. Discuss object-oriented modeling and compare it
with module oriented approach. 6

Jfesige MRATs AfsfeiT @) aarer & | ¢
Argad MRATS AT A Tardr o |

OR(3721d)

Why testing is important ? Explain role of black box
and white box testing.

ST BT Hecd T 87 sold dlad Ud ®Igc
dfeg SRET & Aol B AT BN |

11. Define MIS . Explain the development process
of MIS. 6

UH IS U9 P AT B | U IATE TH D
SdTdT YT P AT B |

OR(37214)

Define DSS. How Simon’s model is usefull in
decision making. Explain.

Sl T g &) gr™r & | Aofg a9 A
A disd o4 SuAf & araAr &Y |
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Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question

carries 1 marks.

Fu—A ¥ gt 20 ¥¥ & SR <, TAD 9 BT AN 13D 2 |
Answer all Five questions from Group B, each question
carries 4marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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(i)  gweam fagewor $ M fHar
6. What is the role of information in decision ST 2
making ? Explain.
frofar 3 N (31) ey feoga v
i T ?
"‘aﬁ%—'lm o B fAPT FaT 2 @) Rreca vraER B9
(@) Riew 2% @ uga
OR (3121a1) (2) Suraa g+
What is UML ? Explain static and dynamic
modeling. (ii))  Which is not the phase of SDLC ?
) a) Feasibility Stud
Y U U AT 2?7 WP Ud S @ ORI ST
ArsfelT $ ar=ar a | (b) Design
(c) Analysis
GROUP - C (d) Presentation
Answer all Five Questions. 5% 6=30 Giy 399 W B v S Tl ) BT B AL
Y ufg gel & SR Q| 2?
(a1) fohifachidl sregas
7. Explain SDLC with all its different phases. 6 (@) feomg=
Tt S v W @ A= avon @) s o | (H)E'_'E”gﬁm
(]) usicH+
OR (3721dT)
What is system? Write elements of system. (iv)  System analyst have to interact with.
Give information system and explain any two. (a) Managers of organizations
. (b) Users in the organization
Rrecy ? Rrecy aadl forg
s—rq»‘hﬁ;i: %WFI BT iﬁ ﬁﬂﬁﬁ@" %LE? (c) Programming team
aﬁ AT aﬁ‘ I (d) All of the above
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Answer all Five Questions.

(xx) T 9 DI dlgdd d 7 AT
foedvar «) &t €
(&1) Praw
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(&) wrerg R
(%) SWRIdd @ ®Is L]
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2.
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5x4=20

Explain the basic role and need of system analyst.

4

Rivew waifore @ 3maza®dar vd Jd @l

ATET B |
OR (3121an)

What is cost / benefit analysis? Explain.

ANTd o fagayor qar 27 arer o |

Differentiate between logical design and physical

design.

4
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(vi)

(vii)

(vii)

(viii)
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(2) 37T &1 & fau aRif¥r
SUEE 2

After the design phase the document prepared
is known as -

(a) System Specification

(b) Performance Specification
(c) Design Specification

(d) None of the above

fSOISe ©9 & 91 9991 91T siagic
HEAT 2 |

(a1 ey wWfifba=

(@) wwiaT wWfifbsI=

(@) feusa WfifPaeE

(]) s° 4 BIg T8

Spiral model is divided into .................. task
regions.

(a) 3

(b)6

OF

(d) 4
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(xvi)
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(xvii)

10 N4063

<® dfed ST fbar irar 2 |

(@) NI & BREfAST B ST B
& ferg

() ois S & @ forg

@) R 2w a1 @ fag

(2) SWIaad 4@ &g 7181

Which of the following techniques and
notations would you find within UML ?
(a) Use cases

(b) Class diagrams

(c) State diagrams

(d) All of the above

31 @ DI AT SHd ¢d Ay
J U9 YA § 9T STar 87
(31) &1 >4

(¥) Fm8 STIY™

(W) T sru™

(%) Swiaa g+

(xviil) UML stands for

(a) Unified modeling language
(b) Unique modeling language
(¢) Universal model language
(d) None of the above
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(¥) drHrH

(?) 3t o I

The ............ symbol is used in flowchart to
represent a step that gets information from
the user.

(a) Process

(b) Start /Stop

(¢) Input/Output

(d) Selection/repetition

Yeliare @ fod Rred @& dcg 4@
SUAITGdl o 37hIRAE forar Sdr 2 |
(31) wrEw

@) wrd /¥

(d) sYc /3mSeyc
(?) GaaRE / Rt

In a DFD external entities are represented
bya.

(a) Rectangle

(b) Ellipse

(c) Diamond shaped box

(d) Circle
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